1. Vypočítaj:

	
7 + 5 =
	
4 + 6 =
	
11 – 5 =
	
10 – 4 =
	
4 + 7 =

	
3 + 5 =
	
2 + 7 = 
	
9 – 5 =
	
11 – 8 =
	
5 + 6 =

	
9 + 2 =
	
12 – 8 =
	
1 + 10 =
	
7 – 5 =
	
6 – 4 =

	
12 – 7 =
	
8 +  4 =
	
6 + 6 =
	
10 – 5 =
	
12 – 9 =



2. Pripíš číslo o 3 väčšie:    

	5
	8
	3
	9
	7
	6

	

	
	
	
	
	



3. Pripíš číslo o 4 menšie:

	12
	7
	4
	10
	6
	9

	

	
	
	
	
	



4.  Doplň chýbajúce číslo v rozklade:

	12
	12
	12
	12
	12

	

	
6
	
9
	
	
4
	
	
	
2
	
5
	



5. Vypočítaj retiazkový príklad:

10 + 2 – 9 + 5 + 4 – 6 + 1 –  3 + 7 + 1 – 10 =  .........
